N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 E = T 2 E 2 2 E
2 il - : g g g
s E 5 10°F = s
- : g g g
10°F =0 £ g
E : 10°F a
E H E 3
10k P F
: 10°F
10°F 0o E
E : 10%F
10°F .-
10;r . 105—
1k 44 ik
o wwopithand - mkFEDQM_orgmar-0
kS N DQM _TT_mkFit-DQM_updated-0
€ b M LI LL I LL
N | 13 RN |00
. . i I : : I
095 =ie-10 5 05 10 15 20 25 05 =50-15-10 -5 0 5 10 15 20 25 095 —ie-10 5 0 5 10 15 20 25 05 50-15-10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
1%} 2] 0
3 £ g
g g g
[ (0] Q
2 90t s il
o
=3
o
10°
10?
g v g s e i b °
IS | g : : : : : IS
24 | | o . . . . . 14
EH| HﬂiHi”Hm T
0.95! L H H H " 0.9 { H H 0.95! i H H H H 0.953
¥30 20 -0 0 10 20 30 —20 -10 10 20 ¥36 20 -0 0 10 20 30 30 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


